Answers to the Dog Translations

. IX(Dog(x) A Vy(Dog(y) — x=y) A Happy(x))

. IX(Dog(x) A Large(x) A Vy((Dog(y) A Large(y))— x=y) A Happy(x))
. The happy dog is large.

. The dog, which is large, is happy. (l.e. the dog is large and happy)

. Ix(Dog(x) A Vy((Dog(y) A x=y) — Larger(x, y)) A Happy(x))

. Ax(Dog(x) A Bit(x, felix) A Vy((Dog(y) A Bit(y, felix) A x2y) — Larger(x, y)) A Happy(x))
. IX(Dog(x) A Vy((Dog(y) A x2y) — Larger(x, y)) A Bit(x, felix) A Happy(x))

. Ix(Dog(x) A Vy((Dog(y) A x=y) — Larger(x, y)) A Vz(Cat(z) — Bit(x, z)))
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. Ax3y3dz(Cat(x) A Cat(y) A Cat(z) A X2y A X#£Z A Y#2Z)

10. In addition to Felix, there are at least two cats. (l.e. there are at least 2 cats that
aren’t Felix.)

11. There are at most two happy cats.

12. There are exactly two dogs that are larger than all of the cats.

13. Cat(felix) A Bit(felix, rover) A Vx((Cat(x) A Bit(x, rover)) — x = felix)

14. Cat(felix) A Bit(felix, rover) A ¥x((Cat(x) A Bit(x, rover) A x = mother(felix)) — x = felix)

15. vXx[(Dog(x) A Bit(x, felix)) «> (Dog(x) A Larger(x, rover))]



